




A

B

C

C

Śruba M12x70-8.8 ;  Bolt  

D

E

Nakrętka  M12 ; Nut
Podkł. spręż.12,2 ; Spring Washer
Podkł. okr. 13 ; Plain Washer

 Śruba M12x110-8.8 ;  Bolt

Śruba M12x35-8.8 ;  Bolt

Nakrętka  M12 ; Nut
Podkł. spręż.12,2 ; Spring Washer
Podkł. okr. 13 ; Plain Washer

Nakrętka  M12 ; Nut
Podkł. spręż.12,2 ; Spring Washer
Podkł. okr. 13 ; Plain Washer

Śruba M12x35-8.8 ;  Bolt  Śruba M12x110-8.8 ;  Bolt

Śruba M 8x30-8.8 ;  Bolt
Podkł. spręż. 8,2 ; Spring Washer
Podkł. okr. 8,4 ; Plain Washer

Śruba M 8x30-8.8 ;  Bolt
Podkł. spręż. 8,2 ; Spring Washer
Podkł. okr. 8,4 ; Plain Washer

A x1

B x1

C x2

D x1

E x1

M12x110 4
M12x70 2
M12x35 4
M8x30 6

M12 10

13 10

8,4 6

12,2 10

8,2 6



A

B

C

C

Śr
ub

a M
12

x7
0-

8.8
 ;  

Bo
lt  

D

E

Pk
t. 1

Na
krę

tka
  M

12
 ; N

ut
Po

dk
ł. s

pr
ęż

.12
,2 

; S
pr

ing
 W

as
he

r
Po

dk
ł. o

kr.
 13

 ; P
lai

n W
as

he
r

Pk
t. 1

Pk
t. 3

Pk
t. 3

Pk
t. 2

Pk
t. 2

 Ś
ru

ba
 M

12
x1

10
-8

.8 
;  B

olt

Śr
ub

a M
12

x3
5-

8.8
 ;  

Bo
lt

Na
krę

tka
  M

12
 ; N

ut
Po

dk
ł. s

pr
ęż

.12
,2 

; S
pr

ing
 W

as
he

r
Po

dk
ł. o

kr.
 13

 ; P
lai

n W
as

he
r

Na
krę

tka
  M

12
 ; N

ut
Po

dk
ł. s

pr
ęż

.12
,2 

; S
pr

ing
 W

as
he

r
Po

dk
ł. o

kr.
 13

 ; P
lai

n W
as

he
r

Śr
ub

a M
12

x3
5-

8.8
 ;  

Bo
lt

 Ś
ru

ba
 M

12
x1

10
-8

.8 
;  B

olt

Śr
ub

a M
 8x

30
-8

.8 
;  B

olt
Po

dk
ł. s

pr
ęż

. 8
,2 

; S
pr

ing
 W

as
he

r
Po

dk
ł. o

kr.
 8,

4 ;
 P

lai
n W

as
he

r

Śr
ub

a M
 8x

30
-8

.8 
;  B

olt
Po

dk
ł. s

pr
ęż

. 8
,2 

; S
pr

ing
 W

as
he

r
Po

dk
ł. o

kr.
 8,

4 ;
 P

lai
n W

as
he

r
Nr

 ka
tal

og
ow

y

Y/
02

9
Ma

rka
od

  1
0/2

01
2 -

>
M

its
ub

ish
i O

ut
lan

de
r

96
-1

11
 K

ow
ie

sy
, C

ho
jn

at
a 

23
 A

te
l. 

+4
8 

46
 8

31
 7

3 
31

 







M12x110 x4

12,2 x4

13 x4

M12 x4

M8x30 x6

8,2 x6

8,4 x6

M12x35 x4

12,2 x4

13 x4

M12 x4



30

30

15

10



M12x70 x2

12,2 x2

13 x2

M12 x2


	Strona 1
	Sheet1
	Widok rysunku1
	Widok rysunku2
	Widok rysunku3
	Widok rysunku4
	Widok rysunku5
	Widok rysunku8
	Widok rysunku9
	Widok rysunku11
	Widok rysunku12
	Widok rysunku14
	Widok rysunku15

	Sheet1
	Widok rysunku1

	Strona 1
	Y.029 1.pdf
	Strona 1

	Y.029.1 Mitsubishi Outlander 10.12-.PDF
	Sheet1
	Widok rysunku1


	Y.029.1 Mitsubishi Outlander 10.12-,str.1.PDF
	Sheet1
	Widok rysunku1
	Widok rysunku2
	Widok rysunku3
	Widok rysunku4
	Widok rysunku5
	Widok rysunku8
	Widok rysunku9
	Widok rysunku11
	Widok rysunku12
	Widok rysunku13
	Widok rysunku14





